


















We first thought about subtracting 
the £’s.

£3 - £2 = £1
50p- 10p= 40p

Alex has £1 and 40p left or £1.40

You must always remember to write 
the unit of measure (£ and p) when 
answering these questions.

Previous skills used:
Subtraction (less than)
Counting back in 1’s
Counting back in 10’s



          



1. £2 - £1 = £1
          40p - 20p = 20p
          £1.20

2. £4 - £2 = £2
60p - 30p = 30p
£2.30

3. £5 - £3 = £2
75p - 40p = 35p (remember we are only 
changing the 10’s column)
£2.35

4. £6 - £4 = £2
53p -20p =33p (remember we are subtracting 
from the 10’s so the 1’s column stays the same.





We have added 8p and 
then 20p which we know 
totals 28p
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Mo added 3p and then 
10p which together total 
13p


























